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B. A. (HONOURS) ECONOMICS
(BAECH)

Term-End Examination

June, 2024
BECC-105 : INTERMEDIATE MICRO
ECONOMICS-I
Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as per

instructions given.

Section—A

Note : Answer any two questions from this Section.

2x20 =40

1. Sara consumes two goods X and Y and her

utility function is as follows :

UX,Y) = X0.25 y0.75

P.T.O.
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(a) Find the marginal rate of substitution for

the above utility function. 5

(b) Suppose the prices of X and Y are
respectively ¥ 5 and ¥ 3 per unit. Sara’s
income is ¥ 400. Use Lagrangian to find

her equilibrium consumption bundle. 10

(c) Explain the Slutsky’s substitution effect. 5

Analyze the shape of the utility function for
three consumers—one risk-neutral, the second
risk-averse and the third risk-taking. Who
among them would like to buy an insurance

cover and why ? 4+4+4+8

Consider a two-consumer (A, B) and two-
commodity (X, Y) exchange economy. The
utility function and the endowment sets of both

the consumers are given below :
13
— 4 4
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where, U;,X; and Y, are utility and

consumption of commodities X and Y by the ith

consumers; (= A & B:

(WX, WY) = (10, 10)
and (WE, W) = (15, 25)

WX and WY are respectively endowment of

commodity X and Y with the ith consumer.
(a) Define the Pareto set (contract curve) and
find the equation for the contract curve for

the economy. 10

(b) Explain the Walras’ law. 10

The Short-run Total Cost (STC) function of a

representative firm is given below :
STC= %QS —8Q%+111Q+50

Where Q is the output of the firm.

P.T.O.



(a)

(b)

(©
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Find the short-run supply curve of the
firm. 8
If there are 100 firms in the industry,
what is the industry’s short-run supply
curve ? 5
Describe the various factors that determine
the long-run supply curve of a firm. 7

Section—B

Note : Answer any four questions from this

5.

(a)

Section. 4%x12 =48

Ram consumes two perfect substitute
goods—X and Y. Ram’s income is ¥ M. If

price of X (Px)is less than the price of Y 1.e.
Py<Py, can you find his consumption of
goods X and Y in terms of M, Py and Py ?

Consider a decline in Py such that Py<Pg.
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Explain both the equilibrium consumption

bundles with the help of a diagram. 5

(b) How would the result change if commodities
X and Y are perfect complements instead of
perfect substitutes ? Consider the same
price and income as given in part (a). Draw

the diagram to explain your answer. 2+5

Explain Von-Neumann-Morgenstern utility
function. Mention its salient features and
assumptions. Consider an individual who
invests in different schemes and faces an
uncertain income flow of ¥ 6,000 or ¥ 9,500 or
% 15,000 with their respective probabilities of
25%, 35% and 40%. Determine the expected

monetary value of the investment schemes. 6+6

Consider the following production function :

Q = 40L + 15012 — 212

where, L is labour and Q is the output.

(a) Find the average and the marginal

products of labour. 4

P.T.O.



10.
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(b) Find the quantity of labour when the

average product is maximum. 3

(c) Show that when the average product is
maximum, the average product and the

marginal product are equal. 3
(d) Find the quantity of labour when its
marginal product is zero. 2
Define an isoquant. Why does the economic
region of production always lie between the two
ridge lines ? Explain with the help of a

diagram. 12

Define economic profit of a competitive firm.
Describe the long equilibrium of a perfectly

competitive firm with diagram. 12

Find the optimal consumption bundle for
quantity tax and equivalent income tax using

indifference curve analysis. 12
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11. With appropriate diagram, analyze the three
types of technological progress. Also bring out
the relationship between the three types of
technological progress and the marginal rate of

technological substitution. 12
Section—C

Note : Answer both questions from this Section.

Each question carries 6 marks. 6x2=12

12. Explain any two of the following : 6
(1) Quasi-linear preferences
(1) Isoprofit lines
(i11) Conditional input demand function
(iv) First fundamental theorem of welfare

analysis

P.T.O.
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13. Distinguish between any two of the following : 6

(1) Returns to scale and law of wvariable

proportions
(1) Efficient and equitable distribution
(i11) Cardinal and ordinal analysis

(iv) Quantity tax and the lump-sum tax
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W& U, X, IR Y, id Suder & Sy iR
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(WX, WY) = (10, 10)
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